w/or/tt

PUOJIUO IN21AS - ZZ0Z 33 - 503 \313 NOLLVLIO
oL Siz L 088 81 11812 YOLZS SLLLL 556 69 620 ZL SSLYL
96 €0V zIZ 91 Y8 ZE 6vZ £C L0148 60L 8Z ¥L€ 80} 9vy 8y v6Y 5§ uos|es TYLOL
Sgeoy z1Z 9L 228 12 1255 01 6¥Z ¢ 952 L8 | 158 ey 60L 87 200 2¢ | z3c 99 9vy 8y 995 €5 = {826 1
B - - - - - - - - 1202
SSLek (233 i) (3 620 € 115 £06 € 8802 6692 m
SSLeh 23 5 B3 [ £86 S707 ] 659 V9 € 880 ¢ I6v 2 - K2 Z20e
£80 ¢ Sv L Ve D 3 vee el €Lt 867 565 [ [3 Z20¢ 01queldes y eyouswip n
ZL 8 3 8 5T Se 5Tt [ [ [ s oLt i Z20¢ e1quweidos ¢ [powies u
6Lt L [ 0E o5 09 ) SeC zE 2 Z0r oLt 81 [ 2207 01qWaidos ¢ jpeipuan |
686 1 SE (22 ze ZEL ot 3 06 00} 085 9iZ €2 [ 2202 0Jquo}des | jpnel e
€25 1 3 z9 e SiY 0€C 6% 83 627 z8z Ve v ZZOZ J0OE |¢ jposoiew B
VI8 1 T Sv )3 6LL Irt 782 18 96 (22 €82 vee i 2202 309F OE pew M
[ 9 00} 5L =4 87T vy [ 151 SEL 61y 505 Ve 2202 1008 62 [pun|
[éves 862 089 AN 3y ov5 | 052 890 2 6.2 158 1z0z v
8298 928 165 2L £99 | 155 Lzz 92z 6y L 2
8298 5z¢ €07, 88k Zis vis 70 L 155 789 625 F SIZ ) 8% + = T 7202 .
898 ¥ vez S.T D €92 208 1£9 961 =3 566 05 718 e 2202 10OF BZ oUouEWp <
05L¢ Z01 [ [ 672 Zie %2 19¢ 05 vES 525 1€9 6 ____ | zeozwoe zipeues <
[loi9z A 805 6L 096 6 iz s 251 060 2 120z )
601 57 SVE L ovr ¢ 558 ¢ szv e [ Z8L 0k BLC 9 Wz L :
0% 5% 578 1 S6v e 576 958 ¢ OLby Sty ovr e SYr ¥ ) 8.9 6¢6 9 Z202
Sav L o [ St 00+ 08 Z8e 5L 69 ie viZ 0.2 202 30OF 9T [peIpUdA °
1508 508 0by 522 79 [ 5.8 129 R 09€ 1 €26 SE0 I 220 J00F GZ pne] u
588 L Z62 Sty 69} SiL SiL 099 505 162 260 1 i SET 1 ZZOZ J0OE vz [pesoiol |
s 3 715 002 ZvL A 0.8 809 506 Ty BE0 I 61 ¢ ZZ0Z 300¢ £¢ Ipiew e
197 L 898 587 Vet 555 ) 859 =3 508 520 1 180 [ 2202 300E 22 punf w
L6 Svv 295 251 €68 120 ¢ 669 559 506 010 + ZEC | 8¢ 1 2202 300E |7 SjoUEWp m
ILZ 09 9 e X 551 (753 2D 06) STY 765 0.9 2202 ¥00E O [powies
¥7Z 5t 0zt L 1582 [Zo5c 66 L B8 ¢ Z0b L1 201 2 1202 R
986 &7 TILY 762 0ZLE 809 L Z5e e 191 0L 565 9 :
586 o¥ TIL} (K3 759 0zLt 661 ¥ 0% € Zse ¢ 198 9 00t § 565 9 Z202
078 9 [ S v 62 69 05 19 [ 3 2202 J0OE 61 [poIpUoA °
55t 09 68 zs [ [ 97T €62 S5 Zvy 789 2Z0Z 300¢ g} jpnol u
SET L =3 89¢ OEL 129 0cL =) [ €79 €201 750 1 ZZ0Z J0OF Z| [pesoiew l
8IS Cr 59 006 522 Tyl ST ¥ %6 876 Vov 1 [ [ 2202 00F 9} piew e
Z0Z L 0ez 162 Vs 669 6.2 155 25 2 9L 688 ZZ02 J00F 51 [pun] .
622 ¥ IE 6% 62 892 =3 vSe 182 =3 069 €8 2202 300E |, oyouew) m
5058 1Ly €e9 Sv) €89 192 €19 SeL 201 290 1 5Th | ZZ0Z 00 £} powes
[ivsee [ oz ZSLt SioS (%) 199 589 ¢ 8vLLL 597 Z 120z .
25 99 050 ¢ €10 6186 88C L) 565§ 8v8 Sl 8L 6 c
25 99 050 ¢ V8 ¢ I 6185 16¢ 9 266 7 65 5 ZZe 8 925 L 8L 6 720z
661 0L 3 295 S8t 620 | 990 | ) 8v6 =2 ZEL L €€ | ZZ0C J00F 2} [PIpUoA s
198 0F €05 0v9 SSt €66 Ver L 9oL 8101 5% 1 00} | 2 2202 300€ |1 pnel u
STLiL SSv 585 602 050 1 2 678 vE6 6L€ | VEL L SISV ZZ02 W0OF 0 (pesoiew |
760 11 295 829 73 826 SE0 ¢ ci8 516 vov 1 20z 1 08 | 989 | Iy 2Z0Z J00E 6 [piew e
SIv 6 Z6¢ €25 571 €18 606 889 6EL A €10 1 BEV I D 22 2202 J00E g 1pun] o
652 9 (13 Ze¢ [ 8¢ B ¥09 657 169 196 068 S50 1 e ZZ02 300F £ ayouewip °
505 Z Zov. ves e 0.5 079 709 €85 €28 86 S00 ¢ 851 1 SEE L ZZ0Z J00F § [powies &
(89561 - B B9V 2 205§ V0B T [T 195 | 106 L o 1202
200 09 008 ¢ 526 ¥ Z88 ¥ [ 1697 005 71 on) S8v 6 m
700 09 0087 669 ¢ 052 ¢ 788 ¥ Tor s 0.6 ¥ 169 ¥ 120 L 6Ly L vvE 8 Z51 6 - == 7200
11z S vez vez S5t 15% €15 ) 09% 685 680 | 528 666 o€ 220 30OE G [paipuBA o
S66 6 5oy 29 52T €20 1 150 198 6L YL €61 1 A Zict o 2202 300E  1pnel u
888 6 Sev ) 1T 508 0.8 008 98 022 | N 6T 1 vy 1 18 ZZ0Z 300E € [pesoiew |
€72 0F 1S ves cEl 678 €66 6L =] BYE | Vit E0% 1 785 1 2 ZZ0Z 008 ¢ jpiew e
200 6 (2 555 611 VoL 1ie 059 VL Vi Y 610 1 6vE 1 ¥05 ¢ € 2202 008 | pun| w
57V L S0v 715 191 195 965 65 1€5 208 796 €0+ oz | o 2202 Il 1§ ejouewip 9
81z L =3 iy 091 687 755 529 167 6rL 796 00Z 1 0El 1 8__ 2202 101N OF (powes &
802 0z z - 599 9 ¢ 5202 575 9 865 | R ST
Zzs Ty 5002 sy ¢ T0LE sz8 L 68L ¢ 5V LY 9L S M
Zes Ty S00¢ 657 Z 800 ¢ T0LE 196 ¢ S98 ¢ 68k ¢ 0% S Tt SELS 925§ 7202
vee b 5T Ie S¢ 0L 8 561 oit it ovE 152 207 2202 9lIin] 62 [PoIpueA °
085 § 897 Z65 622 veL 08 Z89 SvL ¥e0 1 SEL L 520 1 L1t 2202 WIIin] 82 1pnel u
769 L Zov 895 €81 ovL €08 569 %9 586 Z8h 1 169 VoL 2202 3°IIIN 2 Ipoloioul |
Vv S 10z 052 STl B €85 509 52e 668 9.6 95% 67 2202 101l 52 piew e
SIS 9 13 viE ED S0L L 565 003 106 696 Z65 ves 2202 1IN 5 1pun| u
0L L 3 €2¢ 181 095 05 V1S S6v 668 216 TEL L A 2202 01N ¥Z SUoUEWP 9
205 23 e [N ove 8¢ 1Zv 992 6V 62L 528 598 2202 011N £¢ Ipowes &
[(rioc iy 55 2 982 ¢ S6LL 0222 ¥76 8 865 1 T BIT0T
89V I 8L9 L Les ¢ 915 ¢ 569 L 850 ¢ ZLE 0L 86C S ¥z 9 w
857 1% [ Sz 760 1 Sisc ¥08 ¢ 168 ¢ 850 ¢ STy JEIE) B6C S 666 ¢ Z20z
L9 9 062 00¥ €61 269 €04 £29 605 959 Sb0 L 0ZL 608 220 3°|(Inf ZZ IpoIpueA °
TV L 162 12¢ 69} 529 Zv9 N = 799 060 1 216 S0b 1 2202 1IN 12 1pne] u
665 ¢ oL 56 85 Shl 15t 562 (53 z82 Zev 95¢ (22 2202 1IN O [pesoiew 1
579 22 [ 18% 019 6.9 615 167 589 588 258 16 2202 Il 61 [piew e
087 9 59T 155 65) Z5v SIS 125 86¢ 029 896 oL 598 2202 301l g1 pun| u
§99 5 0€C 5 VoL 5y 25 525 007 695 952 = 188 2202 101N L1 ejouewip °
[2X) 00¢ 89E 881 = 785 Z03 zIS 997 576 8.8 00 1 2202 WIIIN] 9 [powes =
[Zaiv 167 €26 ZTL L ¥26¢ 506 16 ¢ 599 1zZ0z.
Z66 0% e T [ VeLy %56 X3 Lizov 0L ¥ 58l Y 2
256 0% ove k £002 Sov 1 VLY 596 698 ¢ X3 ey SIv 9 B0L Y 186 ¢ - 1802 z202
000 Z Z0z ZIE 3 203 = 859 zes 852 800 1 966 150 + 3 2202 IIin[ 1 [peipuoeA °
S0c S €82 16¢ 59z 125 = 8.5 vse 717 526 oie ve ot 2202 391N v}, 1pnel u
GEL¥ V6L 3 992 Eiv vev €65 vse 075 6.8 198 55¢ 62 220z 39IIiN £ |posolow |
Tee Y 981 3 BEL ZiS =) 8eS Siv 615 IrL 091 851 (3 220z Wlin 7 jprew e
S9L¥ 09t 3 051 SIS = 9. vee 575 ZE6 [ (53 [0 2202 IIIN] 1+ 1pun| g
089 01 6EL Z0z €51 608 I 96 ¢ 802 585 12L 6L 958 | v v 29 2202 101N 0} oyouEw]| °
SLLY Z8) 162 13 Z5e 88¢ [ 96T 18¢ Ver L TEL 551 3 2Z0Z 301N 6 [powes 2
Vv L 61 759 1L vz e ves | sooc - - T 120z
P9 6L 568 [E0X3 Tzl 8505 [ 805 8 - 5 M
V5 6+ 588 6L L 62k L Izt T6C b 596 ¢ OEE & 686 F 69 9 - - - Filis 2207
996 ¢ ZEL 061 8.1 [ 62 085 81 =3 166 2202 1IN g peipusA o
LT 961 65C Vi 56T 52E €59 61Z 288 981 | 220z 101l Z pro] u
856 ¢ 051 612 i3 151 081 265 Vil 25T 986 ZZ0Z 1IN g peioiow |
T6LT 58 vy = 061 012 =) SvL (3 €90 1 1S piew e
866 52 6% ze 2 55 SeC 55 77 3 2202 1IN v (pun| u
186 ¢ eV 09} el D 52T 099 891 (I3 590 1 2202 011N € oyouEwip 2
Z0z ¢ St 861 81 B 891 €19 08E 5% €6 2202 1IN ¢ [pewes 8
[806 ¢ ZiL ToT 022 66 511 S0z L | s RIS (172 120z
618§ 8 ZSL S62 SLLL 12z SvLZ - - s
6.8 5 68 P53 617 53 61C I5v b 3 987 0sv Z B e 7202 z
608 B v 05 S S5 6l 3 8E 89¢ 2202 1011 | [poipuen
5291 B 68 €5t 96 S0t 09 7 76 69 2202 Uin| o 1pnel w
88L 1 3 YL o1 68 78 [ S5 28 1L 220z UIN| 62 [peloiow °
THE L St 52 z8 5€ S5 =3 52 IS 667 2202 Ulnl 6z ipiew s
€97 z 0E Ze (3 7t [ cr 8L 981 220z Uinl 2z ipun|
LEED iy 099 ¢ [ vor Lz oL v 5 B - S e 120z =
05¥ ST 081 Lot 6iZ Svv 9 et SyL L - S z
05 51 [ 0zt 200 © 612 527 1109 5ok 51T 926 9 - - - T - Z202
BLCS €5 801 782 26 551 €EL T 15 VZ Zve 2202 UIn| 5z eyoucwip w
S0LL 0zt (53 viv 2y voz 568 ¢ 6L Vvl Z6E € 2202 Uln| 5 [powes °
5T T Z z BE - 8 686 5 - 601 1 7202 UIN| 72 1POIPUOA s
B : - - . - - - T e Rk es SR 1202
= - - - - - - - B B - - - e 2202 14
B 2202 uinl £z 1pne "
- 20z E_i ZZ |petosew o
3 220z uin 1z ipiew s
5 2202 Uinl 0z 1pun|
['cso¢ 58 086 TEoRT 769 x S0t L - - iZ0zE e
3 5 5 3 2 g 5 = = = B B = s 7202 "
& 2202 UIn| 61 oyoucwip z
= Z20¢ UInl 8}, Ipowes
- 2202 UIN[ Z} [poIpusA w
- 2202 Uinf g1 tpnaf ®
o ZZ0Z uin| G| |peJssew s
£ 2202 Uin( v IpJew
5 220z uinf €1 pun|
x 5 = p i S 3 e B 1202
3 = - = - - - - - 0T :
B z B B : z E 5 : g = = = - Z20C
g 2202 Unl ¢} eyoucwip "
= 2202 Ui 1} ipowes u
- 2202 UIN[ 0} [PoipuBA |
- 220z uin 6 tpnef e
2 220z uin( g 1po.diow W
o 2202 Uln]  1piew 2
2 2202 UIn 9 1puny 5
suorald suoreld 1IN suoyald SuoRI 1IN suojerd 1IN SuoRId TIN 1IN
S9jUa0sag | Saguop sagjuoly | ssjusosag Sjuop JUO a | seguop S99)Uoly | sajusosaq | sejuoly | Seiueass@ | seasiuop —
sapasso| apebalsalaL aunal4 xneyo apBalsala L sapebalsalaL JUSPIYEP BUIqEO3I9 L
(1paipuaa ne 1pawes np ) zz0zZ 213 m_w_m Emu_umm
SHIIMVNAINOr SIOVSSVd 3d JHFINON - SINODINVOIIN SIILNOWIY ~, —~

PUOLIIUOIAl IN33I3S - ZZOT 933 - Sadesseqd



